Ldsungen WS 2001/2002:

1. Aufgabe:

1.1 Uge =12V, R =150 Q
1.2 imax = 80 mA

1.3 7=300us

1.4 UCmaX = 12V
1.5 t=239,16ms

2. Aufgabe:

2
21 7 :\/R2 +(a)L—ij
«oC

2.2 C=1064F , Pmax = 13225W
2.3 S=1247 VA ,P=1176 W, Q = 414 var

3. Aufgabe:
31 Rp= 2,38-107%

32B=79mT
3.3 N=2889
3.4 L=16,6 mH

4. Aufgabe:

4.1 S=1732VA
42 n=077

43 Py=4W

44 Pvmin = 2,26 W

Losungen SS 2002:

1. Aufgabe:

1.1 P=1662,8 W, Q = 1247,1 var, S = 2078,5 VA
1.2 Pges = 1662,8 W, Qges = 0, Sges = 1662,8 VA
1.3 lges=2,4A

14 Py =69W

2. Aufgabe:
21 7r=0135s

22 t,=0,187s
2.3 Wy =0,7776
2.4 C,=900uF

2.5 Wep =0,5832



3. Aufgabe:

3.3 PK = P|_ =0

35 Up=6V,R; =0,866 Q
3.6 Ry =0,866 Q

3.7 P=10,39 W

3.8 Anpassung

4. Aufgabe:

41 Rppe= 0,36-106%, RmL = 7,96-106%, Rmges = 16,64-106%
44 ®.=d =6,01-10"°Vs

45 Bg=B_.=006T

4.6 U=0,12V

Losungen WS 2002/2003:

1. Aufgabe:

11 U, =U ic ReR+R) oy, L

® U9 R 4R 4R, ™ R +R+R, " R +R,
12 Ugers= 4V, Riers =6,67 Q, 1,= 034 A
13 a=0750Q
14 R,=6,67 O

2. Aufgabe:
21 lpax=1A
2.2 u, =398

2.3 Rm=106%,L=1H

24 Wy =0,4531]
25 t ., =20ms

3. Aufgabe:

3.1 Z2=200Q

3.2 1=175A

33 U, =875V,U,=2625V, I,=j-175A, 1, =(L75- j-175)A,
U, =(131,25- j-131,25)V, U, =(131,25+ j-131,25)V

34 S=6125VA,P=6125W,Q=0

4. Aufgabe:

41 |12 = |23 = |31 =625A

4.2 |1 = |2 = |3 =108,25 A

4.3 cos@=0,781

4.4 S=T75KkVA, P=58,6kW, Q = 46,9 kvar

45 S=237,7kVA, P =29,444 kW, Q = 23,55 kvar




Losungen SS 2003:

1. Aufgabe:
1.2 rp=6¢Cm

1.3 Rmi=Rmz2 = 7,036-104%

1.4 L=71mH
1.5 Fyq =568,5N
1.6 Wy, =0,567 Nm

2. Aufgabe:
211 R=2000Q,L=0,64H

2.1.2 Ir=0,055A,1.=055A

213 ¢=843°

2.2 1c1=0,225A,1c2=0,518 A

232 C=Cy: 1=0,232 A0 =76,3°
C=Cy 1=0,063A¢=294°

3. Aufgabe:

3.1 R.=10,44 Q

32 Upg =84V

33 1;=08A, 1,=0,444A,13=0,356 A
3.4 Uy =1386V,R; =066 Q

4. Aufgabe:

4.2 P=6,4kW, Q=48 kvar
43 1,=667A 1=1155A
44 Z=5997-e7%% O

45 7=086

46 C=963 uF

Losungen WS 2003/2004:

1. Aufgabe:

L, R = 2-e+2-d-pu;

s Mo~ He - A

13 o=l fote A
2-e+2-d-u,

14 ®=239-10"Vs

15 F=1,136N

16 e, =525m



2. Aufgabe:

24 Zy =89,44 Q, Zyes =200 Q

24 Zy =Ry +i- Xy, Zy =Ry’ + Xy Y VI

24 X, =2, »-C
25 X, =80Q R, =40Q

3. Aufgabe:
31 Pmechl = 4,8 kW

32 P=6kW,Q=8kvar, Z,, =48-¢/%% Q

3.3 C, =53,054F

4. Aufgabe:

41 Cp=144nC
42 Ug=12cm
4.3 A=0,163 m?
44 g =4

Losungen SS 2004

1. Aufgabe:

1.1 R|_1 = R|_2 =5 Q
12Rzy=2Q, ¢ =16,7m
13Rj=45Q

14U, =18V

15Uyg=36V
1.6 S=6,7 A/Imm?

2. Aufgabe:

22 Rm=Rm2= 1,326-106%, Rms = 6,631-105%, Rmges = 1,768~106%,

23 I1=0,71 A

24 ®,=4/3-10"Vs, ®, =8/3-10"Vs

25 d=2,09 mm



3. Aufgabe:
32R=20 Q

33 7=5ms
34L=01H
36.1 i=0,7A
3.6.2 Uor = 28V
3.6.3 u =-28V
37 7,=1/2

4. Aufgabe:

412,=(138+j-54)Q, Z, =(30-j-30) Q
42U, /U, =015-j-020Q

43U, = (3_ J ‘4)V, U, =5, ¢=-5313°
4.41=117,85 mA
45S=2347VA,P=2,33W, Q=0,33 var
4.6 Q_=0,75var, Qc =-0,4167 var,

Losungen WS 2004/2005:

1. Aufgabe:

1.1Up=6V,Rj1 =300 Q, lg1 =20 mA

1.2 Up =12V, Rj =600 Q, lgp =20 mA
1.3 Ugg =8V, Rig=200 Q, lgg = 40 mA
1.4 Raopt = 200 Q

1.5 Pamax = 80 mW

2. Aufgabe:

21C=995 uF

2.2 P =1kW, Q=-0,75 kvar, S = 1,25 kVA
2.3 cos ¢ = 0,97

2415=181A

2.5 @st = 36,87° (Spannung eilt voraus)

3. Aufgabe:

31 1=368-j-2,76A, @ges = 36,87°
32Z,=(15+j-55)Q

3.4 Uy = 206,98 + j 160,96)V
351;=153A



4. Aufgabe:
41 Ry = 7,96~104%, Rm2 = 1,99~104%

42 ®=1158 mVs,B;=1,159T, B,=0,29T,
4.3 Fres = 3994,35 N
4.4 Wi, = 6,66 )

Losungen SS 2005:

1. Aufgabe:

1.1 Rges =100 MQ
12R1=1MQ, Ry, =99 MQ
1.3U=91,08V

1.4P=1W

15R’=1,11MQ,Rz=110kQ

2. Aufgabe:
2.1 gleichsinnig

2.4 Ryg =119,37-10° %, RwmL = 596,83-10° %, Rmges = 131,3-10* %

25 @ =456,97-10"°Vs
26 Be=B_.=1,14T
2.7 wird kleiner im Vergleich zu Bg (Querschnitt ist groRer)

28F=413,68 N
2.9 F wird kleiner

3. Aufgabe:

31Z,=(20-j-40)Q, Cy=25 uF
3.2.2 1 =(60- j-60)mA

323U, =(3-j-3)V

3.24 1, =(-30- j-90)mA

4. Aufgabe:
4.1S=10733,46 VA, P = 4800 W, Q = 9600 var

42 11=1548 A
4321;’=6,93A
4.41P° g=144,07 W

442 Py =T7189W
4.4.3 80%



Losungen WS 2005/2006:

1. Aufgabe:

1.1 R=L/C

12C=1uF, L=10mH
1.4 W, =50 1 J, W=50 1]
1.5u, =-10V

2. Aufgabe:
2.1 Riers=947 Q

22 Uolers = 3,79 V
2.3 Leerlauf: I =210,5 mA, I, =126,3 mA,
KurzschluB: 1; = 400 mA, I, =0 mA,

2.4 Leerlauf: Pry = 177,24 mW, Kurzschluf3: Pro, =0
251 Ra=Riers=947 Q
2.5.2 Pamax =379 mW

3. Aufgabe:

3.1 Zges = (5-j5) Q,R=5Q, L = 31,83 mH

3.2 Ugr = (1154j115)V  Uc = (345 — j345) V
3.3 S=7481, 19 VA, P = 5290 W, Q = -5290 var;
3.4 f=61,24 Hz

35 1=46 A

4. Aufgabe:

4.1 RmLi= 5-106i, RmLa = 1o-1o"i,
H H

4.2 Bi=Ba,

4.3 Rme = 15~106ﬁ,

44 B=0,125T, ®=5-10"Vs
45 1=3A



